


CaSO4·2H2O + teplo = CaSO4·0,5H2O +1,5H2O,  (1)

CaSO4·0,5H2O +1,5H2O = CaSO4·2H2O + teplo.  (2)

https://www.cez.cz/cs/vyroba-elektriny/uhelne-elektrarny/cr/pocerady.html
https://www.cez.cz/cs/vyroba-elektriny/uhelne-elektrarny/cr/pocerady.html
https://www.thefis.org/measuring-plasterboard-waste-finishes-interiors-sector/plasterboard-waste-710px/
https://www.thefis.org/measuring-plasterboard-waste-finishes-interiors-sector/plasterboard-waste-710px/
http://www.infoglobe.cz/tip-na-vylet/cr-zamek-lednice-unikatni-projekt-rodu-lichtenstejnu-video/
http://www.infoglobe.cz/tip-na-vylet/cr-zamek-lednice-unikatni-projekt-rodu-lichtenstejnu-video/










https://www.thefis.org/measuring-plasterboard-waste-finishes-interiors-sector/plasterboard-waste-710px/
https://www.thefis.org/measuring-plasterboard-waste-finishes-interiors-sector/plasterboard-waste-710px/
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